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EXAM PAPER 2023
LEVEL : PRIMARY 6
SCHOOL : AI TONG SCHOOL
SUBJECT : SCIENCE
TERM : PRELIMINARY EXAMINATIONS

Q1 Q2 Q3 Q4 Q5 Q6 Q7 Q8 Q9 Q10

3 2 2 3 2 1 2 1 3 4

Q11 Q12 Q13 Q14 Q15 Q16 Q17 Q18 Q19 Q20

2 2 2 3 2 2 3 4 3 3

Q21 Q22 Q23 Q24 Q25 Q26 Q27 Q28

2 1 3 2 3 2 4 1

Q29 a) To transport oxygen, water and digested food to the baby / transport waste
materials from the baby to the mother.

b) Womb / Uterus

Q30 a) Oxygen / warmth / water
b) Carbon dioxide and nutrients
c) The heat produced when the leaves decay keeps the eggs warm to hatch

them.
d) Protect the eggs from predators



Q34 a) With more exposure to sunlight, plant A can trap more light to make more
food, so fruit A will be sweeter.

b) (i) With carbon dioxide provided, the plants in the greenhouse can
photosynthesize.
(ii) Air pollution is reduced / Reduce global warming

Q35 a) Inner can: Material A / Set-up 1
Outer can: Material B / Set-up 2

b) The inner can should be able to lose heat faster to freeze liquid M faster.
The outer can should gain heat slower from the surrounding so that the ice
melts slower.

Q36 a) (i) Solid
(ii) Liquid
(iii) Gas

b) Gas H has no definitive shape. The gas in tank B is more compressed than
the gas in tank A

Q37 a) Conductor or electricity
b) When the switch is closed, a closed circuit is formed. The iron bar

becomes an electromagnet and attracts the steel rod. This allows the
candies to drop onto the tray.

c) When the tray is filled with candies, it becomes heavier and the spring will
be compressed. Part X will no longer touch the metal contacts, forming an
open circuit.

d) Use springs that compress more easily / Replace the tray with a heavier
one.

Q40 a) Potential energy → Kinetic energy → Potential energy + Kinetic energy
b) Point C is higher than where he started from. He will not have enough

gravitational potential energy to convert to kinetic energy to reach point C.
c) The layer of oil will reduce fraction between his skateboard and the ramp.
d) He could apply a push force as he comes down the ramp.

Q41 a) The force caused the stationary arrow to move forward.
b) He must pull the string on the bow further back. This increases the elastic

spring force exerted on the arrow, moving it further.


